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Abstract You are reading the greatest scientific paper of all time which houses the greatest physics theory of all time,
proposed by Prince Chimobi Igboejesi as “’Ultimate Gravity’’. The revelation of the true form of gravity can only be
known through the knowledge of the universe technique for interpretation proposed in this paper as “’God’s Eye’’. From
2019, a new revolution in physics began, this revolution evolved right from the introduction of the space-time parameter
through the God Equation (Ultimate Physics Equation), the Four Zodiac numbers (1, 2, 3, 5) which formed the Pi value
(3.125), down to Ultimate Relativity which has so many branches introduced during the journey, all these were done using the
unique ultimate technique. Searching for more answers to Gravity, I discovered that the combined proposals from both Albert
Einstein and Isaac Newton about the nature of gravity is up to 50% of what gravity actually is, but then we need the remaining
50% which will be revealed in this paper. Again, the whole essence of always starting from the root is to prove that everything
in this Universe is all linked to one another, which is why I’ll be describing gravity from its root. Gravity is actually a
consequence from space-time which is everywhere around the Universe, this means that gravity is the bond that links
everything in the universe together, revealing that gravity is the head of one very big happy family, as its members are more
surprising. Perhaps, this true form of gravity can only be revealed using the God’s Eye Technique. Read, Share and tell
everyone about Chapter 4.
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solved immediately. Let’s assume Mr T refuses to ask for
the blueprint and decides to follow the longer route by doing
researches with experiments, he’ll encounter a lot of
constraints and setbacks including a major problem of
knowing the exact components/details Mr X used in creating.
For example; if Mr T is a structural engineer and wants to
know the exact details Mr X used in designing a building, he
can observe but the probability of him getting all the
details/dimensions and materials correctly is low, so why not
follow the route that is perfect which is using the blueprint of
the building.

This explanation is referring to a norm in science (physics).
In science, scientists tend to form a theory after doing an
experiment/observation. Over the years, forming a theory
from an experiment/observation resulted to the downfall of
theoretical physics. The reason is that there’s limit to what
experiments/observations can reveal which will require
theoretical physics to come in and join the pieces through the
language of the universe which I refer to as mathematics, but
when theoretical physics is needed, it vanishes. I changed
this ideology because a handbook of something is meant to
be a guide to that particular thing. Therefore, theoretical
physics is meant to be a guide to experimental physics, this
will sound weird to the scientists. Perhaps, if I have the
blueprint of the universe, do I need experiments? This is

1. Introduction

Figure 1. PI-Gd Eye

I was told to finish the story. Perhaps, this paper is your
Christmas gift for 2024. If Mr X created a thing means Mr X
knows everything about its creation. If Mr T wants to know
more about Mr X’s creation without asking Mr X, he can
attempt by researching and performing related
experiments/measurements to get details. Alternatively, if
Mr T doesn’t want to go through all that process, he can
simply ask Mr X for the blueprint to its creation and problem
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when experiments/observations come in to confirm what the
blueprints says. The universe is already created, instead of
doing experiments/measurements resulting to inaccurate
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values as a means of knowing the truth when you don’t have
a guide, it’s better to use the blueprint. What has experiments
/observations revealed in relation to the general truth of the
universe? Nothing but false results because it can’t join the
pieces together. I love accuracy to inaccuracy, so I always
use the obvious route. Now, it’s one thing to have the
blueprints, it’s another thing to understand/interpret and this
is where the ultimate technique (God’s eye) comes into play.

Table 1. PI-Contents

Contents

Introduction

Ultimate Relativity

God’s Eye Technique

Ultimate Gravity

Scigion (Science/Religion)
The 100
Void
2025

o ([0 ([ Q|| [W N =

Summary

Above is a table with the contents of this paper. Before
revealing the God’s eye technique to the world, the world
needs to know about Chapter 2 (Ultimate Relativity).
Ultimate Relativity explains how everything in the universe
are related through the Pi value, proving it in reality from
their geometry and also proving it mathematically using the
actual Pi value and observing its traces in the exact values for
physical constants. The knowledge of Ultimate Relativity is
key to using the God’s Eye technique effectively. In
Chapter 3, the God’s eye technique is revealed in full.
Chapter 3 is the conclusion that Mathematics is the
language of the universe and there are guidelines that we
must follow, and if we must get accurate information about
our universe, we must make use of this language in full
display relating to the God Equation. Chapter 4 is the real
deal, the main body of this paper. The works of Isaac Newton
and Albert Einstein dominate the development of the
gravitational theory but what you will see is a complete
shock with an entire new line of equations. Basically,
Chapter 2 and 3 are all we need to embark on the journey
which is Chapter 4.

Chapter 5, 6, 7 and 8 are all bonus chapters for the
readers.

2. Ultimate Relativity

Ultimate Relativity is also known as the Pi theory in
Physics. This theory reveals the exact value of Pi and its
significance in Physics. The main part of this revelation is Pi
being responsible for the physical constants of the universe
i.e. theoretically and mathematically, we can’t get the exact
value for physical constants of the universe without the exact
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Pi value.
This is a quick summary of Ultimate Relativity;

2.1. Origin of Pi

Figure 2. PI-Four zodiac display

2.2. Discovery S (Proof of the Pi value)

. 9% 9% 9% 9%

16% 16% 16% 16% 16% 16%

1%
Figure 3. PI-Derivation

A missing piece (four zodiac symbolic teachings) was
needed to prove the Pi value as revealed in [1]

So, this is now easy to understand from Figure 3 above

as follows;

e The circumference of the circle becomes a line.

e There are four quadrants, the radius is 16% of the
quadrant circumference (25% of the circle
circumference). Therefore, we have 16% into four
places as displayed in Figure 3.

o We are left with 9% from each quadrant and we
sample them. 9% in four places gives 36%.

e We can get two more 16% from 36% as 32%. The
amount of 16% we now have is 6 as 96% of the
circumference which is 100%.

e Remember, the 16% is known as the radius of the
circle as displayed in Figure 4. Therefore, it means that
the radius of a circle is distributed 6 times along the
circumference of a circle, remainder 4%. So, let’s
express 4% in terms of 16%.

e If we say 16% appeared 6 times, we can’t say 4%
appeared once, it’s less than 16% which makes it not
up to once, so we have to express it in terms of how
many times the radius (16%) appeared, rather we say
4% appeared;

4
— X = . 1
100 16 = 0.25 times
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Figure 4. PI-Circle Drawing

A radius is used to draw a circle because the same radius
will be distributed round to form the circumference (shape)
with the help of Pi at the background. Therefore, with this
understanding, from Figure 4, the radius (16%) will be
distributed 6times in a circumference of a circle plus
0.25times.

6+0.25=6.25
Therefore, the circumference of a circle is simply;
6.251
And
6.25=2x3.125

Pi is exactly 3.125. Therefore, the circumference of a
circle in Pi terms is;

2nr

So, the radius which is used to draw/form a circle is
distributed 6.25times to form the circumference.

Hence, if we use a certain radius to draw a circle, the
radius of that circle is exactly 16% of the circumference,
and it was the reason why the 16" Greek Letter was chosen
as the Pi symbol, I guess you didn’t know.

Table 2. PI-16% radius-circumference proof

the programming language. Now, bring this discussion and
try to relate it to what is involved using a comparison. Let’s
say you want to build a website and you want to build a
Universe (mathematically);

Table 3. PI-Codes

PI CODES (1-10368)

1,2,3,4,5,6,8,9,10,12, 15, 16, 18, 20, 24, 25,27, 30, 32, 36, 40, 45,

48, 50, 54, 60, 64, 72, 75, 80, 81, 90, 96, 100, 108, 120, 125, 128, 135,
144, 150, 160, 162, 180, 192, 200, 216, 225, 240, 243, 250, 256, 270,
288, 300, 320, 324, 360, 375, 384, 400, 405, 432, 450, 480, 486, 500,
512, 540, 576, 600, 625, 640, 648, 675, 720, 729, 750, 768, 800, 810,

864, 900, 960, 1000 1024, 1080, 1125, 1152, 1200, 1215, 1250, 1280,
1296, 1350, 1440, 1458, 1500, 1536, 1600, 1620, 1728, 1800, 1875,
1920, 1944, 2000, 2025, 2048, 2160, 2187, 2250, 2304, 2400, 2430,
2500, 2560, 2592, 2700, 2880, 2916, 3000, 3072, 3125, 3200, 3240,
3375, 3456, 3600, 3645, 3750, 3840, 3888, 4000, 4050, 4096, 4320,
4374, 4500, 4608, 4800, 4860, 5000, 5120, 5184, 5400, 5625, 5760,
5832, 6000, 6075, 6144, 6250, 6400, 6480, 6561, 6750, 6912, 7200,
7290, 7500, 7680, 7776, 8000, 8100, 8192, 8640, 8748, 9000, 9216,

9375, 9600, 9720, 10000, 10125, 10240, 10368

Table 4. PI-Program Comparison

CREATION Website Universe
LANGUAGE PYTHON MATHEMATICS
APPLICATION/ PyCharm, Anvil, Reflex, The God
FRAMEWORK Django etc. Equation
PyPy, Pyston, CPython, s
INTERPRETER MicroPython etc. God’s Eye
CHARACTERS/
PYTHON CHARACTER PI CODES
IDENTIFIERS SETS e.g \\,\a, \b and so on

2nr 2nr

If the radius of the circle is
6¢cm, the circumference will be;

2x3.125x 6 = 37.5cm

Proving the radius as 16% of
the circumference;

16 X37.5=6
100 .0 =6bcm

If the radius of the circle is 57cm,
the circumference will be;

2 x3.125 X 57 = 356.25cm
Proving the radius as 16% of the
circumference;

16><35625—57
100 .25 =57cm

See more information in [1].
2.3. Pi codes and the Physical Constants

If PYTHON is a programming language, you need an
application/framework where you can practice or make use
of the programs i.e. the app allows you to create what you
want using PYTHON language. However, you really have to
know how to arrange certain characters, you don’t just insert
any, it won’t work if it is not a valid combination related to

Going deep in PYTHON, there are certain words or
characters that you must use for a particular task, they are the
set of valid characters that a language can recognize. In
Mathematics as combined with physics, you must use the PI
codes i.e. when you start using PI codes in the framework
(God Equation), mathematics knows that you’re doing
calculations related to the universe. Use Table 4 to
understand better.

Anvil allows users to create web apps/sites using
PYTHON language. If you have the codes you used in
creating the site, someone can use an interpreter to know
what you did. Perhaps the universe has been created.
Mathematically, the God Equation is the framework, Pi
codes are the set of characters/combination used and we can
use God’s Eye to know what was done during the building of
the universe but first you need to know more about PI codes.

2.4. How to Know a Pi Code

The simplest way to know/find a Pi code is through the
zodiac numbers by subjecting any number to division using
either 2,3 or 5 or a combination of any of these three
numbers, and see if the division leads to 1. If it leads to 1, that
number is a Pi code and the numbers produced in the division
are all Pi codes. If it doesn’t lead to 1, it is not a Pi and its
products are not Pi codes. 2,3 and 5 are the numbers that
forms the Pi value “°3.125°°, 1 divides a number to result to
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the same number. Therefore, the result from a Pi code
division must lead to 1 for justification.

For example;

Testing 2160;

2160
1080
540
270
135
27

W W | W (NN |NN

2160 is a Pi code and its products (1080, 540, 270, 135, 27,
9,3 and 1) are all Pi codes.

Testing 546;
2 546
3 273

91

This is where is stops, neither of 2, 3 or 5 can divide
through further. Therefore, 546 is not a Pi code and its
products (273, 91) are not Pi codes.

2.5. The Physical Constants

Without the exact values for the physical constants of the
Universe, there’s no way we know anything about our
universe through calculations. There are two forms of Pi
codes representing the physical constants of the universe, Pi
codes itself and the vibrating values.

2.5.1. Pi Codes Value

Table 5. PI-Physical constants as Pi codes

CONSTANT VALUE PI CODE
Speed of Light 3 x 108 3
Elementary Charge 1.6 x1071° 16
Fine Structure 7.2 x1073 72
Vacuum magnetic permeability 12.5 x 1077 125
Electron Radius 2.88 x 10715 288

2.5.2. Vibrating Values

Table 6. PI-Physical constants as vibrating values/Pi codes

CONSTANT VALUE PI CODE
Vacuum electric permittivity | 8.8888888889 x 1012 1125
Electron Mass 8.8888888889 x 10731 1125
Gravitation constant 6.6666666667 x 10711 15
Planck constant 6.6666666667 x 10734 15
Boltzmann constant 1.3333333333 x 103 75
Bohr radius 5.5555555556 x 10711 18

God’s Eye: Physics of the Universe (2)

To know a Pi code, we must test to know if a number can
get to 1 using 2,3 and 5 but vibrating values are like a second
face of Pi codes. So, it’s either a Pi code or a vibrating value,
both are basically the same but different forms of each other.
I named them “’vibrating values’’ but they are values with
repeating digits and the simplest way to get one is;

Picode Vibrating Value
For example, using Table 6;

1

8.8888888889

Pi code is 1125, the decimal point shifts as required.
1

6.6666666667

Pi code is 15, the decimal point shifts as required.
1

1.3333333333

Pi code is 75, the decimal point shifts as required.
1

5.5555555556

Pi code is 18, the decimal point shifts as required.

The power of the repeating digits is that no matter how the
digits keep repeating, the result is the same. For example;

=0.1125

=0.15

=0.75

=0.18

Hogoc? =1
(12.5x 1077) x (8.8888888889 x 107 12) x (3 x 108 )2 =1
Once the authorized number of digits for the constant is used i.e.
11digits/12digits, any further increment of the repeated digits to
infinity will still produce the same result, which in turn helps in
confirming an accurate result;
(12.5 x 1077) x (8.888888888888888888889 x 1071%)
x(3x10%8)2=1

In conclusion, the value of a physical constant of the
universe can be either a Pi code or a vibrating value. We
can’t have values that represent the universe as values at
random or with digits at random, it must be exact with
something in common. See values for more constants in [3].

3. God’s Eye Technique

GOD’S EYE

Figure 5. PI-God’s Eye display/N.E

This Chapter is brief because it refers you back to my
previous papers. Prince Jessii discovering all these over the
years signifies the presence of God’s Eye naturally which
resulted to having the knowledge of the universe. Having
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God’s Eye implies that I could get any information I want
about the universe and everything in it. There are seven basic
things that opens the eyes of the reader to understand its
universe, once that happens, it is God’s Eye activated and
you begin to understand how the universe works. Now, if |
want to pass God’s Eye to humans naturally, I would have to
do that theoretically/mathematically. God’s Eye is a
knowledge technique for interpretation and you can’t
interpret results about the universe if you don’t know the
following things at hand;

> The originator of the universe as a value, 3.125
> The root of the originator as numbers; 1, 2, 3, 5.
> Four Zodiac symbolic teachings

> Pi geometry

> The God Equation (Ultimate Physics Equation)
> Pi codes

> The exact values for the physical constants

Papers displayed at the references of this paper are enough
to guide you through the above list for this knowledge. Know
this and you won’t be on the wrong side.

4. Ultimate Gravity

Gravity is the most significant interaction between objects
at the macroscopic scale, and it determines the motion of
planets, stars, galaxies, light also. Getting answers to the
truth about gravity is simply just starting from the root, it’s
all about the origin. Doesn’t matter if Newton got his
inspiration from a falling apple or Einstein wondering about
the movement of planets to think ’curvature’’. Their
description is only a piece of the entire puzzle. I said before
that if Ultimate Relativity is a book, General Relativity is a
chapter of that book. I take that statement back, as of this
moment, General Relativity is not even up to a chapter. If
Ultimate Relativity is a book, Ultimate Gravity is a chapter
of that book and the Newtonian Gravitational equations
coupled with General Relativity descriptions are just sections
under the chapter. I could only wish that Isaac Newton got
the description of gravity right, maybe he would have figured
out the other pieces of the puzzle, I say this because Ultimate
Gravity recognizes his subject equation. On the other hand,
Einstein’s General Relativity equations are totally off the
track, not in any way close, but his descriptions are the best.
With the Newtonian subject equations coupled with General
Relativity description of Gravity that you know; Ultimate
Gravity is simply a theory that takes you back to how it all
started from the beginning of the Universe to reveal the
complete form, causes and effect of Gravity. Basically, it is
the Ultimate theory of Gravity that tells you everything about
Gravity from its origin.

125

Figure 6. PI-Sun/Earth

Take a look at the Figure 6. With a guess, you might just
say that’s two stars. Yes, that’s two stars and also, that’s the
sun and the earth, but way back at the point of creation.

Figure 7. PI-Molten Magma/Lava

Again, from the origin. I wonder how scientists know this
clue but forget that it happened; I mean we had and can still
have volcanoes erupting, we can also observe molten
magma/lava, the traces are still there underneath but this clue
was left without use.

Figure 8.

PI-Hot Earth Layers
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The display as Figure 7 and 8 signifies a ’Hot Earth”’.
With what you see as Figure 8, the whole idea you have
about gravity is about to change. If you happened to witness
creation of the universe in a dream with the knowledge of the
appearance of the Sun and Earth presently, and in the dream,
you see something like the Figure 6, how would you
describe gravity?

The appearance of the Sun you see in this present time was
the exact appearance of every other planets/planetary body at
the point of creation.

Taking details from Figure 6 (past) and comparing to
present will reveal two main points;

» The Light (energy) carried by planets in orbit cooled
off (solidified) with time.

» The planets in orbit changed (cooled) with time, while
the other in which other planets revolve around
remained more or less the same.

So, with this two main points, you can simply ask “where
did the energy go”? or “’what happened to the energy’’?

Let’s analyse the equation below and give an honest
answer;

GM
9=77

The Newtonian equation can be used to calculate
parameters for planets and stars, including the Sun. So, the
question is; If we observe the Sun’s energy (radiation)
presently, can we actually use Newton’s subject equation to
do calculation for stars as relating to g? Is something not
missing? How are we using the same equation to calculate
for both stars and planets? If so, how is energy not described
in the equation? Is its energy not significant enough to be
represented in the equation?

If otherwise, does it mean that the Newtonian equation for
gravity that we know is wrong? No, it’s not wrong but rather
it’s a two-face equation.

Analysing the Newtonian subject equation, the equation is
correct but I can’t see any constant or parameter that
represents energy to show that energy is/was present as
related to the description as Figure 6. Therefore, the
Newtonian gravity equation is one half, we need to find the
second half. Take a glimpse at the following points;

Figure 9. PI-Free space justifying g

» It all started with a blast of Energy in an empty space

God’s Eye: Physics of the Universe (2)

of a Pi geometry universe (vacuum).

» The Blast of Energy resulted to different sizes of
energy crumbs, both small crumbs and big crumbs of
energy at different parts of the vacuum (Figure 10).

Figure 10. PI-Blast of Energy

» The different crumbs will then be activated to form
matter (mass) using the Pi geometry resulting to planet
formation as spheres. To convert energy to matter, we
make use of (E = mc?). Hence, the converter is ¢?.

LAYERS OF THE EARTH

Oufler core
asa)
nner core
e

Figure 11. PI-Layers of the Earth

Up to 80% of the weight/mass of a planet are the lands,
lands I mean from the crust (surface) down to the inner core.
The crumbs of energy were activated in a way that the
section with diameter x-y from Figure 9 which indicates the
lands (surface to inner core) were the areas converted to
matter from energy. As we progress, I’ll reveal what formed
the spheres (atmosphere and all).

Figure 12. PI-Planet Formation (crumbs)
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» Although the crumbs of energy were converted to
matter as the planet formation process, the formation
was programmed in a way whereby energy will be
present at the surface (T-Z) while having mass (x-y) in
Figure 9, The planets now become the image
displayed in Figure 6, having a mass while still
carrying energy.

» Observing the past and the present, the sun is not
totally energy, it has mass. Therefore, it is a
combination of matter with energy and this is how the
earth and other planets was at the point of creation.
Therefore, the other half of the equation should have
M present and also ¢? present to show the presence of
a body with both matter and energy. I say this because;

We can use the Newtonian gravity subject equation to
calculate parameters for planets and stars (including the Sun),
but if the Sun have mass and we can still observe its energy
(radiation) presently, it means that somewhere in that
Newtonian subject equation, ¢? is hidden but we will find it.

Back to the details from Figure 6. If the planet on the orbit
cooled with time, gravity is definitely the cause but presently,
two things are noticed,

» A planet revolves around a star, caused by
gravitational effect (curvature) from that star.

» A planet rotates on its axis as it revolves around a star,
revolution caused by gravitational effect from that star,
meaning rotation and revolution both go together.

The constant which represents this gravitational effect is
G. From past to present, the two points above are constant
(rotation and revolution), this means that the energy cooling
(solidification) of the planet on orbit is linked to constant
rotation/revolution through curvature. Therefore, to begin
findings, we relate the converter ¢* to the Newtonian
gravitational effect equation.

In terms of the planet involved, to describe we have;

M
r
Analysing the Newtonian equation;
_GM
g = 1"2

G is the constant representing the gravitational effect, the
other parameters involved which describes the planet itself
. M
is just M and r as -

Therefore, the plan is to eliminate and replace with ¢*;

Table 7. PI-Parameters represented by Characters

Mass of planet M
Gravitational effect/presence G
Radius of planet r
Speed of Light (presence of energy) [
.. . M
Eliminating -
GM M

2 r

127

GM r
X —_—
2 M

21D

Introducing ¢?;

Revealing the radius;

1 G

2 r

In the Newtonian gravity subject equation;

GM
9=r—2

G . . 1
We can observe a o if substituted for =, we have our

c2’
second face equation;

M

9= 2y

Table 8. PI-Gravity Two-face Equations

GRAVITY TWO-FACE SUBJECT EQUATIONS

FIRST FACE SECOND FACE
_GM M
9= r2 9= c2r

That’s simply the equation that has been missing, it will
lead us straight to the big secret. The inspiration I had was as
a result of curiosity and the question I asked myself was that
the same Newtonian gravity equation can be used for planets
and stars but the equation doesn’t show the presence of
energy for stars, which made me to suspect that the equation
is wrong for stars but it isn’t. You see an equation (first face)
but you didn’t know something is happening behind that
equation (second face). Hence, the same way we use the first
face equation for both stars and planets is the same way we
will use the second face equation for both stars and planets.
Hence, both equations as two faces in one head proves one
thing; all planets/planetary bodies were all stars at the point
of creation.

Here’s the explanation;

Although the second face equation generally signifies the
past at the point of creation for both stars and planets, but it
doesn’t reveal the full information, it is just a subject
equation, the expanded equations for the presence of energy
and why it disappeared will be revealed as we progress.
Perhaps we know that g is acceleration due to gravity, but g
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is also a parameter that also describes the nature of

space-time(s) in a planet, as explained in my previous papers.

If you understand g as just an acceleration, you’ve gotten it

. - 1
all wrong (see section 4.5 for more description). g = - If
the nature of spacetime is not thick, an object accelerates
downwards faster. If its thick, the object accelerates
downwards slower. Thus, the thickness (density) of
space-time determines the acceleration due to gravity, g.

However, what if there’s no free space-time yet in a planet?

Figure 13. PI-Energy cooling (solidification)

I mean what if the planet has energy in area (T-Z) just
like in creation using Figure 9, will g be justified inside the
planet? No, because the planet itself has not formed
completely, it is still in process.

g can only be justified if the planet has formed (cooled)
completely.

Hence, the above explanation describes the equation

g= CIZ—T according to Figure 9.

From the equation;

¢t =

r
G
In terms of the radius r;
r = Gc?
Substituting r as G¢? in the equation;
M
9=y
In terms of M, we have;
M = Ggc*

Therefore, we have two major equations from the second

face subject as;

4.1. The special one (Test)

Here comes the big secret. There are two universal
constants in the equation 7 = G¢?, G and ¢. Why are there
two constants and no other parameter in an equation that
directly describes the radius of a planet? Except that this
supposed planet is a special planet and it is the chosen
planet for unification in science representing other planets.

God’s Eye: Physics of the Universe (2)

Before we conclude, let’s proceed to insert UPE exact
values [3] for these constants in the equation.
Inserting values;

r = Gc?
r = (6.6666666667 x 10711) x (3 x 108)2
The radius of this planet is;
r=6x10°m

For more clarity, Let’s proceed to find the mass. To find
the mass of this planet, g is required but we need further
revelation.

Figure 14. PI-Rotation Illustration

Although planets are spheres but when we think rotation
of a planet on its axis, it’s like using a compass and a pencil
to draw a circle with a chosen radius but constantly doing the
drawing (Figure 14), while carrying an energy with a speed
(¢). Hence, in this rotation of a planet on its axis explanation,
what is involved is just the circumference and the area of the
circle been drawn, with ¢. Furthermore, we use the revelation
that the cooling of the planet (cooling of the energy) is
related to the revolution and rotation of the planet on its axis.
It’s mainly revolution but revolution affects the rotation, so
we still have to get details from rotation. Also, the
description is that; without the energy cooling, there’s no
justification of acceleration due to gravity g, which will
occur in T-Z.

Let’s do some digging;

GM
9=%
GM = gr?

Multiplying both sides (LHS and RHS) by g;

GMg = g*> xr?

If rotation is a repeated circumferential movement and

the planet has an energy, the description will be;

2nr X ¢
2mre
Taking RHS and equating with 2mrc;
g% xr? =2mrc
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Again, the circumference and area are two features that
are visible during a rotational movement, the area of a circle
is mr?, proceeding to equate the circumference with the
area.

Multiplying 7 with 7% in g% x r?;

g* xmr? = 2nrc

Dividing through;
g2mr?
2mrc
Cancelling like characters;
g*r =2c
2c
2 _ 2%
§ r
_|2c
9= 7

Proceeding to get the acceleration due to gravity of this
planet;

2 X (3 x108)
(6 X 10°)

g = 10m/s?

G, g, ¢ and r is settled, we can now find the mass of this
planet which will give us a clear answer.
Using the second face equation, the mass of this planet is;

_ M
9=
M = gc*r

M =10 x (3 x 10%)% x (6 x 10%)
M = 5.4 x 10%*kg

Using the first face equation (Newtonian equation), the
mass of this planet is;

GM
g=7
2
gr
M==—
G

10 X (6 x 10%)?
~ (6.6666666667 x 10-11)
M = 5.4 x 10**kg
Using M = Ggc*;

M = Ggc*
(6.6666666667 x 10711) x 10 x (3 x 108 )*
M = 5.4 x 10**kg

See section 4.5 for units check.
4.2. Earth

No one will ever imagine that it is possible to get details
for Earth directly from the physical constants, but I needed to
shock the world, I just had to, because so many ideologies in
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physics are deceiving people already. It’s an easy guess
without telling you that this special planet is planet Earth but
I still have to prove further to the world by comparing with
NASA observational values as Table 9. Again, this is the Mr
X and Mr T type of situation I explained at the introduction
of this paper. These planets weren’t just formed without a
plan and do we think these values will be random values
without any form of uniqueness in their values? The
programmed energy blast happened in a Pi geometry vacuum,
meaning that the planets will be in Pi geometry and their
related values will be in Pi codes. If you do an
experiment/observation, expect inaccuracy with some level
of errors. I don’t know what method was used to measure the
radius of the Earth, but it definitely won’t be accurate
because planets are way bigger in scale than any
machine/device we could try with. How do we do an
experiment relating to g when we have air resistance? These
are factors that are bound to cause errors. From Table 9, you
can observe that the NASA values have errors but they are
close to the exact and these experimental/observational
values are the reason why we couldn’t get more accurate
answers about our universe over the years. Regardless, we
don’t have to condemn the experimental/observational
values, go to (nssdc.gsfc.nasa.gov) to confirm details on fact
sheet.

Table 9. PI-NASA and UPE comparison
NASA UPE PI
Th tical/
SOURCE (observational) (Theoretica CODE
Exact)
MASS 5.9722 5.4 54
x 10%*kg x 10%*kg
RADIUS 6.378 x 10°m 6 x 10%m 6
ACCELERATION
DUE TO 9.820m/s? 10m/s? 10
GRAVITY

PI-Earth Card

Figure 15.

There are billions of planets but there’s only a special one,
the planet we live in called Earth. The calculations are our
evidence. The physical constants of the universe lead us
straight to the values for planet Earth but not others, meaning
that Earth is the key for unification in science representing
the macroscale, indirectly coupled with all other planets
existing in the universe. This unification is the same way for
the quantum which was done in my previous paper, the
particle for unification was found to be the Electron.
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However, as beautiful as Earth is, humans still think of
damaging it, but God has his eyes on Earth. We all know
what Earth has blessed us with but I thought you should
know more about your planet from the blueprints.

What you need to know is;

The first face equation and the second face equation are
the same. The little difference is that the second face justifies
g through ¢ i.e. the presence of the energy on a planet way
back at creation is the reason why g will be possible then,
now and forever. If the planet is completely rock and didn’t
form according to X-Y (mass) with energy at T-Z (Figure 9),
will g be possible? No. The first face justifies the now, the
second face justifies the point of creation and the process
when the equation is expanded.

- Earth’s Energy Cooling Process’

Y

CREATION | PROCESS  _FORMED

The Display as Figure 16 shows you that your planet
wasn’t like this in the past (way back at creation), with the
described transformation as you can see. If there was an
energy present at the point of creation means that there was
an absorption (cooling) because we don’t see the light
presently on Earth. Before going further, the world needs to
understand the Bond as gravity.

4.2.1. The Bond

Corbit

Figure 17. PI-The Bond called Gravity formed as a curvature is present

If you remember, from [2], the common ground is
space-time which is everywhere around us. Everything in the
universe exist in/on or through space-time, which signifies
the connection between existing things in the universe
through a bond. This is the full description of gravity; In the
real sense, there are planets that rests on space-time, the
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presence of mass on space-time results to gravity but gravity
is that bond that connects every party involved/affected by
the curvature. Here’s the description;

Table 10. PI-Gravity related characters and descriptions

G This constant represents Gravitational effect i.e. presence of
the bond
M This represents the mass of the planet on orbit
This is acceleration due to gravity, describes the nature of
g space-time in a planet
c This constant represents the presence of energy as its speed
r Radius of the planet on orbit, it forms the Pi geometry
C Circumference of the planet on orbit
a Represents absorption (energy cooling)
b4 The geometry
. Electric corllstant signifying electromagnetism (works with
the magnetic constant)
Magnetic constant signifying electromagnetism (works with
Ho the electric constant)
Trot Represents the rotational time of the planet on orbit
T, | Represents the revolution time of the planet on orbit
Corpic | Circumference of the orbit
Torpi | Radius of the orbit
Mg, | Mass of the star
Tanm | Radius of the star
Jsun | Acceleration due to gravity of the star

From g = i—’:’, a gravitational description for a planet (A)
on space-time is given by;

GM ,
ga=

2,

If another planet (B) with the same description falls within
the curvature caused by planet A, we can get details about the
full description connecting both planets, which can only be
expressed by;

GM ,
2,

(X or =)parameters for planet B

Such as;

M,

s— (X or +)rg/gp/Mp etc.
A
Ifg= Gr—lzl, Wwe can say;

ga(xor =)rg/gp/Mp etc.

This is how the bond called gravity works, more
description will be revealed as we progress.

4.2.2. Cooling (Absorption)

Presently, Figure 18 displays the appearance of the Sun
and the Earth. Compare Figure 6 and 18. Again, the planet
on the orbit changed with time while the planet that creates
the orbit hasn’t changed up to 10%, more or less the same.
It’s time to introduce the constant representing absorption.
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Table 11. PI-Values for absorption related
CONSTANT UPE EXACT VALUE PI CODE
Elementary Charge 1.6 x 1071 16
Pack Photon value 4.5 x101° 45
Fine Structure 0.0072 72

Figure 18. PI-Present display of the Sun and the Earth

You have been hearing about the fine structure but the
question is do you really know what the fine structure
constant represents? It signifies the strength of the
electromagnetic force that governs how electrically charged
particles interact with light. In a simply way, it is simply the
constant that signifies the absorption of a photon by an
electron. Scientists discovered the formula for the fine
structure constant as;

ke 9x10°x1.6 x1071°
hc ~ (6.6666666667 x 10-16) x (3 x 108)

In my previous papers, I gave an information that breaks

) k k
down the above formula in the sense that e from h—i

=0.0072

describes the energy of a default photon as;

k 9 x 10°
hc ™ (6.6666666667 x 10-16) x (3 x 108)
=4.5x 1016

Mathematically, the value for the energy of a default
photon is 4.5 X 101MeV, and the value for elementary
charge (matter-electron) is 1.6 x 10™1%eV.

Interact both constant and you have the fine structure
constant;

1.6 x1071° x 4.5 x 101° = 0.0072

I thought to explain the fine structure to you because you
never thought that what happens in the quantum happens in
the macroscale except that the macroscale is made up of the
quantum. I have been talking about solidification (cooling of
energy) of the planets way back at creation. Perhaps if we are
talking about cooling, absorption of energy (photon) by

matter (electron) caused by rotation/revolution through
curvature, the fine structure constant comes into play. Hence,
when we ask “’what happened to the energy’’? or ’where did
the energy go”’? we simply remember that when a photon
(energy) is absorbed by an electron (matter), the photon is
destroyed i.e. it disappears. The electron then moves to a
higher level.

Figure 19. PI-Electron absorbing a photon

4.2.3. Rotation (Cooling)

Presently, we know that rotation of a planet around its star
causes day and night but it wasn’t the main reason why
planets were in rotation and revolution around their star.
Rotation and Revolution, they both go together. However,
planets as a result of curvature (gravity) were made to rotate
on their axis while revolving around their star, to aid cooling
of the energy being harboured by them.

Figure 20. PI-Cooling by Rotation

Let’s do a derivation;

From g derivation which describes justification from
rotation i.e. rotation of the planet aided cooling. Therefore,
we take a page from the derivation process to get more proof.
At a point during the derivation is an equation as;

ng®*r? = 2nrc
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We can relate Time to the rotation (circumference),
T = C (T = 2xr), just like in physics when calculating the
2nr

Velocity of a body in rotational movement as V = -

Double Derivation
Substituting T as 2mr;
ng*r? =Tc
The geometry as m in form of a curvature aids the

absorption. Hence, introducing the fine structure, replacing
m with a;

ag’r? =Tc

ag?r?

c

So, Time (T) is the rotational time and will now be called
Tro
Ty = 2T
c

Double derivation using the radius of the planet;

r = Gc?
Introducing the fine structure;

ar = aGc?

Multiplying both sides by g?;

ag’r = ag*Gc?

Divide both sides by c;
ag’r ag*Gc?
¢ ¢
Multiply both sides by r;
ag*r’  ag®’Gc*r
c c
Cancel out like characztegs;
T _ ag’Ger

Both sides of the equation can produce the rotational time
of this planet.
Proceeding to find the rotational time of Earth;

ag’r?
c
~0.0072 x 10% X (6 x 10°)?

rot = (3 x 108)

T,oc = 864005

Trot =

T, = ag*Ger

0.0072 x 102 x (6.6666666667 x 10~11)
X (3 x 108) X (6 X 10°)

T,or = 864005

We live on Earth and we can do the test of knowing when
our planet does a full rotation on its axis, a full day is 24hrs.
Although, during observations from outer space and within,
different readings were gotten (23.%hrs, 24.05hrs, 24.08hrs)
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but again there will always be errors when experimenting or
observing. However, let’s get information from 86400s.
Converting 86400 seconds to hours;

86400
~ 3600
= 24hours

From the blueprint, it says exactly 24hours and this is in
line with what we observe.

4.2.4. Revolution (Cooling)

Presently, revolution mainly results to the seasons
amongst other results. Revolution and Rotation both go
together i.e. the planets revolve around the sun as they rotate
on their axis. Although the momentum of a planet triggers its
rotation but without the gravitation effect from its star
causing curvature to result to revolution, there’s no
revolution of a planet. Perhaps, while rotation helps in
internal cooling, revolution handles the external.

Note: Both Rotation and Revolution of a planet are
affected by the curvature from its star. Hence, the rotation
formula can testify. The derivation of rotation and revolution
of a planet done in this section is an independent equation
from the planet side only, we’ll need to hear from the sun soon.

Figure 21.

PI-Cooling by Revolution

If Revolution and Rotation both go together and we’ve
gotten the equation for rotation, we can get the derivation of
revolution from the equation for rotation. Getting the
revolution formula from rotation means we go higher;

ag?r?
Tro = c
Square both sides;
2 4,4
T2 acg*r
rot CZ
Multiply both sides by g;
atgsrt
Trot Zg = CZ

If r = Gc?, Substituting G for Cr—z :
Trot2g = a’g°r’G
Dividing both sides by Gr?;
T.oe2g a’g°r®G
Grz  Gr?
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Cancelling out like characters;

Trot’g
Gr?
Both sides of the equation represent the revolution time of

a planet.
Using L.H.S;

= a?g5r

Trot Zg
Gr?
(86400)2 x 10
6.6666666667 x 10711 x (6 x 10%)2
T,ep = 311040005

The above equation describes the connection between
Earth’s revolution period and its rotational period.
Using R.H.S;

Tiew =

— o205
Tyep = a*g°r

(0.0072)% x 10° x (6 x 10%)
Trer = 31104000s
Converting 31104000 seconds to days;
31104000
~ 786400

= 360Days

Figure 22. PI-Earth orbital display

It has been said that 365days make up a year, some say
366days, and I just laugh. Without the calculation, I knew it
was 360, these values are near 360 which is a Pi code and we
normally say that one complete revolution is 360°, so what
happened to 360 days, why the lack of suspicion? If the
values of the physical constants lead us straight to the
parameters for Earth, without calculation it’s easy to guess
that it is 360 days because one complete revolution is 360°.
There’s nothing like 365 or 366 every four years, these are
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simply error values. To mark a particular spot on the outer
space and observe till the earth revolves round and reaches
the same spot is very hard and enough to give an error of
Sdays or more. If it’s hard to accurately get the Pi value
through simple measurement from drawing a circle,
accurately observing the revolution time of the Earth will be
much harder and inaccurate.

It’s been a long time and I don’t know if we can change
this, it doesn’t matter actually and it’s already late when it
comes to the calendar but again, the accurate number of days
it takes the Earth to revolve round the sun is 360 days. The
other values they tell you comes with errors. We can still
break 360days into months, we have 12months with equal
days as 30days each.

See section 4.5 for units check.

31104000
86400
PI CODES 3600
360
24

5 86400 5 3600 5 31104000
5 17280 > 720 5 6220800
5 3456 2 144 5 1244160
2 1728 2 72 2 248832
2 864 2 36 2 124416
2 432 2 18 2 62208
2 216 3 2 31104
2 108 3 3 2 15552
2 54 ! 2 7776
3 27 2 3888
3 9 2 1944
3 5 360 2 972

1 2 7 2 486

2 36 3 243

2 24 2 18 3 81
2 12 3 9 3 27
2 6 3 3 3 9
3 3 1 3 3

1 1

I thought to prove that the values we have been getting are
all Pi codes.

4.2.5. Theoretical/Mathematical Evidence of
Electromagnetism
The fact that ¢ representing the speed of light is present in
the second face subject equation %, signifies and justifies

the permission for electromagnetism in a formed planet and
electromagnetism itself (radiation) in a “’to be formed
planet’’. Perhaps, to justify further, here’s how the vacuum
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permittivity and permeability relates to the related features of 2¢
a planet (Earth); If g= —»we expand here;

c

nr
37500000

3.125 x (6 x 10)

N
R

Substituting % as2in g= |—;

_ Cc
9= r2

J37500000 X (3 x 108)

3.125 X (6 X 106) 2

g =10m/s?
Fi 23. PI-Pl El ism Displ .
eure anet Blectromagnetism Display We can also decide to use r = Gc? to convert r;
If pogoc? = 1, then it produces the following equations
relating to gravity; g= Cc
Megp, nrGe?
r=——
g Cc
. (5.4 x 10%*) x (8.8888888889 x 1071?) x (12.5 x 1077) 9= TG C2
10
r=6x10°m
_ Cc
G = gouor 9= |aréGe
G = (8.8888888889 x 10712) x (12.5 x 1077)
X (6 X 106) 37500000
3.125 X (6 X 105) X (6.6666666667 x 10-11) x (3 x 108)
g =10m/s?
G = 6.6666666667 x 10711 ) s , )
If T,., = a®g°r, it can be expanded with r = Gc¢
soﬁor =1 Tie» = aZgSr
(8.8888888889 x 107 12) x (12.5 x 10~7) x (6 x 10%) T, e, = €*Gc*g®
11
(6'_66166666667 X107 0.00722 X (6.6666666667 x 10~11) x (3 x 108)2 x 105
See section 4.5 for units check. Trey = 311040005
F T _ otgzr2 if _ Tyoec d
4.2.6. Expanded Equations rom Lyoe =7, 1L @= g2rz > e can cexpan

. . —_ GM 2 —
The circumference of the Earth; using g = —5, gr° = GM

2nr
2 x 3.125 x (6 X 10°%) = 37500000m _ ag?r?
Circumference of the Earth | 37500000 ot
— Trotc
Getting the main values for Earth means we can get other g?r?
secondary details like diameter of the Earth, rotational and T ¢
orbital velocity etc. I'll leave this for the reader to calculate. a= ZItVI
When calculating, any value you get that isn’t a Pi code 9
means that the parameter is not significant enough. 86400 x (3 x 10%)

In gll that .has been derived, we can always expand an = ox (66666666667 x 10-11) x (5.4 X 1029
equation but if you look closely, it is no different from the
subject equations. a=0.0072
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We can play around with the equations by substitution;
they are all linked.

4.3. Sun

Figure 24. PI-Sun Card

Regardless of an explanation, this is where we confirm the
truth about curvature/orbit. Again, all planets and planetary
bodies were stars during creation i.e. they all had energy.
After the blast of energy, it’s simple and straight, the bigger
crumbs of energy will form bigger stars and the bigger ones
will dominate others (the smaller ones) by forming their
orbits through curvature enabling them to revolve round but
the disadvantage is that the dominator won’t change but the
smaller stars on the orbit will change and solidify into planets
as a result of rotation and revolution from a curvature. The
sun is the star of our solar system, the solar system where
Earth is a member. The sun happened to be the body that
dominates/creates the orbit (curvature) and the only
difference between it and the other 8 planets is not being
affected by a curvature, which is the reason for its lack of
change. However, some say that the stars are actually
attracted by something. Regardless, the key word is
“curvature’’. Without curvature, there’s no constant
revolution which leads to lack of solidification (no change).
Earth is the special one but it revolves round the Sun, getting
exact values for Earth means that we can proceed to get exact
values for the Sun. To get values for the Sun through Earth,
we look towards equations for Earth’s Rotation and
Revolution and try to complete it.

4.3.1. Double Derivation

Presenting the equation for Earth’s rotation for
completion;
g*r =2c
Dividing by ac;
g*r 2c
ac  ac
gr 2
ac a
Finding g for Sun with L.H.S;
g’r

Gsun =

ac
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10% x (6 x 10°)
0.0072 X (3 x 108)
sun = 277.77777778m/s>
Using R.H.S;

N

Isun =

— 2
00072 277.77777778m/s

g’r
If goun = o we expand;

fr=6c% 6=5, Gxc="1
(4

)
(4

g°r
Gsun = E
Replacing E with G X ¢
g*Ge
Gsun = pe
In terms of g and ¢;
2 Y sun
gle=—¢
Using R.H.S, Multiplying by gc;
agsungC
G

The only way we can confirm the exact radius of the sun
beforehand is by introducing &,.
Introducing &g;

E0AGsungC
G
Testing with RHS;
r — gEoACYGsun
sun G
o] el =9
G sun Eoaxc
gepac
Isun X [ G ] = Tsun

277.77777778 x 10 X (8.8888888889 x 10~12) x 0.0072 X (3 X 10°)
(6.6666666667 x 10-11)

Toun = 8 X 108m

Proceeding to find the mass of the sun;

GM
9=r—2
2
gr
M==—
G

(277.77777778) X (8 x 10%)?
6.6666666667 x 1011
Mg, = 2.6666666667 x 103°kg
Note: If an exact result isn’t gotten, increase the

repeating digits because a repeating digit result from
your scientific calculator is limited.

M =
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Let’s compare/confirm these values with the NASA
Observational values.

Table 12. PI-NASA/UPE values for Sun

NASA UPE PI
SOURCE (observational) | (Theoretical/Exact) | CODE
MASS 1.989 2.6666666667 v
x 103%kg x 103%kg
RADIUS 6.9634 8 x 108 8
x 108m x 107m
ACCELERATION , | 277.77777778m
DUE TO 273.7m/s /s? A%
GRAVITY

4.3.2. Rotation

The Sun and the Earth are linked just like the default
photon and electron. The rotation details of the Earth were
gotten without any parameters from the sun. Turns out that
we can get them dependently or independently. Just like

g= Gr—lzl, G is present but the equation doesn’t include the
body that affects it, not until we expand the equation.

Using gsun;
g°’r

gsun ac

Dividing by ar;

Multiplying by c;

Gsun =

]
N
=

g sunazr =9 ’r
As a completion, LHS gives the relationship for the
rotational value of the Earth through the values for Sun;

— 2
Trot(earth) = Gsun®@'T

(277.77777778) x (0.00722) x (6 X 10%) = 86400s

The Above calculation describes Rotation of the Earth
through the Sun’s gravitational effect leading to absorption.

4.3.3. Revolution

Just like the independent equations/calculations for Earth,
rotation and revolution both go together. Hence, we use the
complete equation for rotation to get the complete equation
for revolution.
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From the equation;
Trot(earth) = gsunazr
oun@’T
Trot(earth)
Using Earth revolution equation for completion;

2 2
Trot g x gsuna r
Gr?

Trev -

Trot(earth)

a*gT o019 sun

Trev = GT‘

Inserting values;

_ aZgTrotgsun
Trev(eurth) - T

Trev(earth)
_(0.00722) x 10 x 86400 x 277.77777778

(6.6666666667 X 10-11) x (6 x 10)

Trev(earth) = 31104000s

The Rotation and Revolution period of the Earth has just
been confirmed through the Sun, using its parameters. Hence,
24hrs for Rotation and 360Days for Revolution.

To understand better about all that has just been calculated,
you need to know what gg,, represents. It represents the
gravitational description of the Sun as;

o G
s (rsun )2
Hence, this means that anywhere you see g, , it can be

replaced with (GMS"’)‘Z

to understand the full description. The

Tsun

complete equations describe the gravitational connection
between the Sun and the Earth as regards to rotation and
revolution. The rotational and revolution time were
confirmed from both views, from Earth’s angle and from the
Sun’s angle.

Figure 25. PI-Planet’s Orbit

Some Scientist went ahead to say that a planet’s orbit is
elliptical, but there are no differences in Pi geometry, it’s all
about the observer’s position. Looking at the planet’s orbit in
the Figure 25, you can see an elliptical orbit and you can also
see a circular orbit, it depends on the view. Also, from my
explanation in [3], an ellipse was described as a compressed
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circle, either way they are the same with one thing in
common as ‘’circumference’’. Therefore, 2mr comes in
play again.

It is now known that the energy cooling was mainly by
revolution, we can get the Earth’s orbit radius by simply
interacting the Sun’s gravitational effect to the Earth’s
cooling factor;

Earth’s cooling factor; ag?

GM sun
[ x ag?
sun
_ GM sun®@g 2
rorbit(earth) -
Tsun

rorbit(eurth)
_ (2.6666666667 x 103°) X (6.6666666667 x 10~11) x 0.0072 x 10°

8 x 108

Torbit(earthy = 1.6 X 101'm
Calculating the circumference of the orbit using the
circumference of a circle;
2nr
Corbit(earthy = 2 X 3.125 X (1.6 x 101)
Corbit(eartny = 1 X 102m

We can also know the Earth’s orbital circumference by
simply relating it to Time. Again, a planet rotates as it
revolves round its star along its orbit. Using Earth Newtonian
gravitational description;

GM = gr?

We can either use GM or gr?;

Figure 26. PI-Macroscale photon and electron

Using gr? to relate with the rotational/revolution period;

2
c _greT,q
orbit — T
rev
T
2 rot
Corbit = [9 earth X T eartn” | X T
rev

86400
31104000
Corbit(eurth) =1x10"%m

[10 x (6 x 10%) 2] x

From all calculations done, here’s the part where we relate
the fine structure constant result in quantum mechanics to its
result in the macroscale. This result helps to unite the macro
and micro.

Figure 27. PI-Cooling by Revolution Description

Just like I broke down the equation for the fine structure
constant through an electron and pack-photon, the same way
for the macroscale is this equation breakdown using Figure
27 and the equation used to get the Earth’s orbital radius;

GMsun 2
r Xag® = rorbit(earth)
sun
T'sun
GMsungz
8 x 108
6.6666666667 X 10711 X 2.6666666667 x 1030 x 102
Tsun —
— —=45x10""
GMsungz
T
GM:::gZ X Torpit = &

(4.5 x 1071%) x (1.6 x 1011) = 0.0072

Table 13. PI-Distance apart (Sun and Earth)

NASA UPE PI
SOURCE (observational) | (Theoretical/Exact) | CODE
DISTANCE 1.496 1"

From Einstein’s equation E =mc?, this shows the
conversion from energy (photon) to matter (electron). In the
universe, apart from space-time, things are either energy or
matter, but it all started from energy before conversion to
matter. Apart from conversion, there’s absorption which is
when both parties interact. However, among these things, we
majorly have the quantum and the macroscale, and basically
what happens in one scale is similar to what happens in the
other. In quantum mechanics, the fine structure is gotten
from an interaction between the electron and photon. Take a
look at Figure 26, you’ll notice that in macroscale, our
photon in this case is the Sun and our electron is the Earth.
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Perhaps, for the macroscale, the way they interact is through
a gravitational effect and the way to describe it is that; the
gravitational effect from the Sun (photon) interacts with the
Earth (electron) and because the macro is made up of the
quantum, BTS, it causes electrons to absorb the photons.

Table 14. PI-Quantum and Macroscale comparison

QUANTUM MACROSCALE
(4.5 x 1019) (4.5 x107) x (1.6 x 10'1)
x (1.6 x 1071%) = 0.0072 =0.0072
rsun
Exe=a«a mxrorm=“

Electrons absorbs photons. This
leads to planet solidification
(cooling) through revolution
caused by gravitational effect

from the star (sun) on its planets
(earth)

Electron absorbs a Photon

Table 14 describes the differences on both scales, we can
also observe the similarity in values, leading to the
absorption constant ().

Hence, if Gl;s"" 5 is 4.5 x 1071, Let’s name this value

sun9d

as Gy, such that;

Gfxrorbit ==a=a

4.5x 107 x (1.6 x 10'1) = 0.0072
Such that;

(g sunT sunl Gfgz =1

277.77777778 X (8 X 108) x (4.5 x 10714) x 102
=1

About the microscale, when it comes to the electrons
absorbing photons as a result of gravity (curvature), we can
actually unify it with the macroscale in an equation as;

Gy X Torpit = @

Gfxrorb,-t = EXe

ke

Gf X Torbit = E

4.3.4. Force of Attraction

For Newton, I can call it the Force of Attraction and put its
unit as “’N’” but as we know, gravity is not a force. So, let’s
call it the “’gravitational effect’’.

The Physical constants lead us straight to the parameters
for Earth i.e. they are connected to the values for Earth.
Therefore, I can already know the gravitational effect before
using Newton’s equation. The shape of the body causing the
gravitational effect plays an important role in determining
the shape (geometry) of the orbit. Hence, orbits are projected
circumference from the circumference of the planet causing
the effect, the projected circumference through the shape of
the planet is the justification for attraction.

God’s Eye: Physics of the Universe (2)

Figure 28. PI-Projected Circumference

_ 2\Trgngc
- Gr
gc
X —
[Gr]
_ 2x3.125 x (8 x 10%) x 10 x (3 x 10?)

6.6666666667 x 1011 x (6 x 10°)
F =3.75x10%%N.s

The force of attraction from the above calculation shows a
value that signifies an effect/attraction measured per second.
Hence, this value will be the same as the value using
Newton’s equation.

Using the Newtonian Force of Attraction equation;

_ GM,M,

2T gyn

r2
6.6666666667 x 10711 X (2.6666666667 x 103%) X (5.4 X 102%)
(1.6 x 1011) 2

F =3.75 x 10%2N

Let’s name the force of attraction as F,, such that the
relation between the revolution and rotation of the Earth
within the curvature of the sun and aiding absorption is
presented and proposed as;

_ crThy
GFA aAgsun

Trev

Inserting values;
(3 X 10%) x (6 x 10%) x 86400
6.6666666667 x 10-11 x (3.75 x 1022) x 0.0072 x 277.77777778

Tyep = 311040005

4.4. Mars

Unlike Earth, the parameters for mars and other planets
are not directly linked to the physical constants of the
universe. Therefore, we use the NASA observational values
with a technique called “’conversion to the nearest Pi code’’.
Choose two out the three major parameters (M, r and g) for a
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planet, analyse and convert to the nearest Pi code, then use
any of the two-face equation to get the third parameter.

Table 15. PI-NASA/UPE values for Mars
NASA UPE PI
SOURCE (observational) | (Theoretical/Exact) | CODE
6.39
23
MASS x 1023kg 6 x10 kg 6
RADIUS 3.389.5 3.3333333333 vV
x 10°m x 10°m
ACCELERATION
DUE TO 3.7m/s? 3.6m/s? 36
GRAVITY

Figure 29. PI-Mars Card

Using the first face equation (Newtonian equation), the
mass of mars is;

GM
g=r—2
2
gr
M==—
G

3.6 x(3.3333333333 x 10°)?
" (6.6666666667 x 10-11)

M =6x10%3kg

r=Gc?

| (3.3333333333 x 109)
~ .(6.6666666667 x 10-11)

¢ =223606797.8m/s

4.4.1. Gravity on Light

Figure 30. PI-Sun and Mars
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According to Einstein, gravity bends light. Perhaps the
result gotten from the second face equation using r = Gc?
shows that gravity affects the speed of light. It can either
enhance (increase) the speed or reduce the speed. The value
of the speed of light as (3 x 108) is universal. However,
the only thing that can increase or reduce this value inside a
planet is gravity. Hence, when we measure the speed of light
on Earth and we get a value as (3 x 108m/s), we won’t get
the same if we attempt to measure the speed of light on Mars
or other planets. The same way gravity causes the differences
in downward acceleration on planets is the same way there
will be differences in the measured values for speed of light
on different planets also. This reduced or increased speed of
light is the reason why the values won’t be in Pi codes,
because this is just like an abomination and it now deviates
from being a universal constant.

Using the second face equation, the mass of mars is;

_ M
9=
M = gc*r

M = 3.6 x (223606797.8)>
x (3.3333333333 x 10°)

M = 6 x 1023kg

Let’s find out what the speed of light will be in a bigger
planet like Saturn;

Table 16. PI-NASA/UPE values for Saturn

NASA UPE PI
SOURCE (observational) | (Theoretical/Exact) | CODE
MASS (SATURN 5.683 5.832 x 10%¢k 5832
( ) X 1026 k g . X g
RADIUS 5.823 .
(SATURN) % 107m 6x10'm 6
ACCELERATION
DUE TO 2 2
GRAVITY 10.44m/s 10.8m/s 108
(SATURN)

After analysing with the “’nearest Pi code method’’, the
above table shows the parameters for Saturn. Let’s see what
the speed of light will be like in Saturn;

r = Gc?

_ (6 x 107)
€= |(6.6666666667 x 10-11)

¢ = 948683298m/s
¢ = 9.48683298 x 108m/s

The speed of light measured in Saturn (enhanced by
gravity) will be more than X3 of the speed of light on Earth.
Again, this is like an abomination (something that’s 3 times
higher that the approved speed of light for the universe). This
is one of the reasons why there are billions of planets but just
one was chosen as the special one because it aligns with the
Universal constants, criteria like the speed of light on a planet
is the reason why planets like Saturn won’t be considered as a
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planet for survival because there would be consequences if
approved values of the universe are exceeded.

4.4.2. Jessii’s Discussion

PI-Arrival on Mars

Figure 31.

One day, we would be able to go to these other planets
freely back and forth, safely not risky. By then, we would
confirm what the revolution and rotation period for the other
planets are. The reason for this discussion is that as of this
moment, I don’t have values to confirm what the rotational
and revolution time for other planets that I’'m about to
calculate. I proved the values for Earth because the physical
constants of the Universe directly produced it, but I can’t
prove in reality the values for other planets especially the
rotational and revolution time until we get to the planets. The
reason is that NASA values for other planets relating to time
are in Earth days (observer’s time as Earth). We don’t
actually know the power of time until we realise it. An
observer’s time will change at different position and the
position used by NASA to determine the rotational and
revolution time for other planets is a position on Earth, and
the values are inaccurate as well. Perhaps, the nature of
space-time has something to do with time. Hence, if we
observe the rotation period for Mars from Earth, it won’t be
the same while observing the same period for Mars from
Mars, there will be a huge difference. This time differences is
the reason why “’g’’ is present in equations relating to time,
because the differences in space-time nature leads to
differences in actual time, see section 4.5. Distance apart is
key to getting full details about a planet affected by gravity
as regards to its rotational and revolution period. If we use

God’s Eye: Physics of the Universe (2)

the equations that was used for the ‘’Earth and the Sun”’
for ¢ Mars and the Sun’’ without acknowledging the role of
“’distance apart’’, it’s like swapping positions i.e. putting
Mars on Earth’s position. Hence, I need you to disregard the
process that was used to get details for Earth. The reason I
used that process is because I wanted to get the exact values
and I have to get one before the other, also because Earth
values are connected to the physical constants. Otherwise,
the first formula to use in the process after getting M, g and r
for a planet is;

Tsun X7 _
2 orbit —
GMsung

Again, the physical constants can only be produced when
using values for Earth. Therefore, the fine structure constant
will change forms, and will be represented by ay signifying
an absorption factor based on the distance apart.

a

T'sun _
GM,,, g% X Torpit = 0x

Now, there no way we can produce the distance apart for
other planets because they are not directly linked to the
physical constants just like Earth. Hence, we use NASA
values and round up to the nearest Pi code.

Table 17. PI-NASA/UPE values for Mars and Saturn

SOURCE (obs:‘:?astﬁ)nal) (Theor:tjilc)fl/Exact) C(l;;)E
DISTANCE
(MAAI;‘EIZTND i ig?lm 2.25x 101'm 225
SUN)
DISTANCE
s || oo |
AND SUN)
rsun
GMsun
8 x 108
6.6666666667 x 10711 X 2.6666666667 x 103°
Tsun _ -12
M. - 4.5x10
Inserting distance apart and g for Mars;
_Ton
GMsungz orbit X

1
45%x1012x—x2.25x 101!
3.62

ay = 0.078125
5
Ay = a

We now have the absorption factor for mars, we can now
proceed to get the rotational and revolution period. We can’t
confirm our calculations but regardless, we do it and wait for
arrival on these planets for confirmation.

. ag?r?
rot — c
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axg*r?
Troe = c
0.078125 x 3.62 x (3.3333333333 x 105)?
rot = (3 x 10%)

Tt = 37500s
Getting details for force of Attraction F, for Mars;
GM M
F=—13—"
r
6.6666666667 x 10711 X (2.6666666667 x 103°) x (6 x 1023)
(2.25 x 1011) 2

F =2.106995885 x 102N

Calculating the revolution period for Mars;

crT o
GFA agsun
crT,o;

GFAansun
(3 x 10%) x (3.3333333333 x 10°) x 37500

rev

rev

6.6666666667 x 10~11 x 2.106995885 X 1021 X 0.078125 x 277.77777778

Trer = 123018755
Confirming revolution period for Mars;
Tyey = a2g°r
(0.078125)? x 3.6° x (3.3333333333 x 10°)
Trer = 123018755
Revealing Revolution period in Mars Days;
12301875

37500

Similar to the quantum, the physical constants lead to the
values for an electron and photon just like E X e = a, e is
default, hence it is the charge of an electron but not for other
particles, e.g. down quark has a charge of — Le. Hence the
values for other particles are indirectly linked to the physical
constlants through the electron value. The factor in this case
is —= and e is what creates the link.

There could be a factor that we can multiply with to give
the value in Earth Days. For example, it could be that Mars
factor for revolution period in Earth Days is;

328.05 X 2 = 656.1 Earth Days

It’s just a guess, I can really say anything now because |
don’t have a confirmation but like I said, until we get to these
planets. Let’s proceed to Saturn.

Inserting distance apart and g for Saturn;

= 328.05 Mars Days

Tsun T —a
2 orbit — UX
GMsung

x 1.6 x 1012

1
4.5%x 10712 x
10

g2
ay =0.06172839506
5
~ 81
We now have the absorption factor for Saturn, we can now

ax

proceed to get the rotational and revolution period. We can’t
confirm our calculations but regardless, we do it and wait for
arrival on these planets for confirmation.

ag’r?
Trot = c
ayg*r?
Troe = P
5
g1 < 10. 82 x (6 x 107)2

Trot =

(3 x10%)
T,o: = 86400000s
Getting details for force of Attraction F, for Saturn;
GMM
F=—Z{0—2
r

6.6666666667 x 10711 x (2.6666666667 x 103%) x (5.832 x 102%)
(1.6 x 1012) 2

F = 4.05 x 10%2N
Calculating the revolution period for Saturn;
Ty
B GFAagsun
1T oo

GFAansun
(3 x 108) X (6 X 107) X 86400000

rev

Tiew =

6.6666666667 x 1011 x 4.05 x 1022 x (85—1) X 277.77777778
Tyep = 3.359232 x 1010

Confirming revolution period for Saturn;
Trey = ag°r
5
(a)2 x 10.8°% x (6 x 107)
T,ep = 3.359232 x 101%s
Revealing Revolution period in Saturn Days;
3.359232 x 101°

86400000

This is where we wrap it up. The fact that there can be
different natures of space-time, means there will be
differences in time inside these planets. You can be doing
your thing in a planet and it might seem fast but you don’t
know that someone watching from you from another planet
thinks you’re being too slow.

I have revealed 95% of gravity theory, the remaining 5%
will be completed when we can get to at least one of these
planets to confirm calculations.

= 388.8 Saturn Days

12301875
3359232
37500
32805
6561
3888

PI CODES
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5 37500 2 3888 5 | 12301875
5 7500 2 1944 5 2460375
5 1500 2 972 5 492075
5 300 2 486 S 98415
5 60 3 243 3 19683
2 12 3 81 3 6561
2 3 27 3 2187
3 3 9 3 729

1 3 3 3 243

1 3 81

3 3359232 3 27
3 1119744 3 9
3 373248 5 32805 3 3
3 124416 3 6561 1
3 41472 3 2187
3 13824 3 729 3 6561
3 4608 3 243 3 2187
3 1536 3 81 3 729
2 512 3 27 3 243
2 256 3 3 81
2 128 3 3 27
2 64 1 3 9
2 32 3
2 16 1
2 8
2 4
2 2

1

4.5. Units Check

Units Check is the exact description for gravity that I
didn’t want to interfere with our journey yet. This section is
all about checking our units for justification, this will also
result to clear understanding for the readers.

Figure 32. Outer space/on Earth

God’s Eye: Physics of the Universe (2)

Understanding the differences in space-time between the
two scenarios in Figure 32 is key to understanding what g
really stands for. Again, do not understand g as an
acceleration only, you’ll get the whole theory wrong. When
it comes to the units, apart from units for G and g, I don’t
have a problem with others, they remain the same. However,
G and g hasn’t been understood properly over the years.

Gravity and Space-time are one;

SxG=1
(1.5 x 10'%) X (6.6666666667 x 10~11) =1

But mathematically, to get one will be the inverse of the
other;

1
=1.5x101°
6.6666666667 x 1011 5 0

First, Gravity and Spacetime are the same thing. If 1
should explain gravity the easiest way i can is that; gravity is
simply space-time’s response when a mass is involved. If
spacetime is a person and you ask space-time this question;

Question: “’what will you do when a mass involves itself
in your business’’?

Space-time’s response: I become gravity.

Space-time can be thick (dense), its default thickness is
represented by 1.5 X 101% as a value. This value is a
universal constant, and the thickness represented by the
value is the reason why planets float. Also, this space-time
thickness can be reduced to a space-time that doesn’t have
thickness just like the one on Earth, which is why we free fall.
So, if you don’t float and be stable like the planets on the
default space-time thickness, anything lesser than that makes
the planets (mass) start dropping downwards. The less thick,
the faster the planets will drop (Decrease in thickness leads
to increase in acceleration). Hence, in Figure 32, if we swap
the nature of space-time on Earth with the one on the outer
space, planets will drop downwards with an acceleration of
10m/s>. With this explanation, you can now realise that g as
an acceleration is just one of the easy ways of measuring the
thickness of space-time through acceleration, g doesn’t
represent an acceleration in those equations but it can carry a
unit for acceleration, rather It represents the space-time
nature (thickness).

Now, if a mass rest on space-time that its thickness is the
default, because it will float and won’t drop, it then creates a
curvature with the help of the shape of the mass (projected
circumference). If another mass is within that curvature, the
mass then begins to revolve through the curvature path. That
curvature is signified by G. Also, when G happens outside, g
happens inside the planet that caused the G, the value of g
now depends on the mass and radius.

Now you know, and this means that G is basically g, it’s
just different scenarios. If a mass floats, G is produced as
default. If a mass starts dropping downwards, it’s g. This
means that any unit of G is a unit of g also, and vice versa.
What produces G and g is space-time. Hence, S creates G, so
we need s for g.
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So, s is a reduced form from S and g is a reduced form
from G. If space-time and gravity are the same thing, this
means that S, s, G and g are the same, and this means that any
unit applied to one can be used for the othersi.e. S,s, Gand g

Let’s confirm more of the equations proposed in this
paper to prove;

Using r = Gc?, Let’s find out unit for G;

r
will have and share the same units. -2
Just like § X G = 1, we have; m
sxg=1 % x %
1
—=S SZ
9 Xz
On Earth, s will be; 52
1 s? oy
0= %10 "
. u . ] The unit of G in 7 = G¢? is =~ just like I explained.
Let’s go into the units usin = —— to get the unit for g; . .
& uns using g =5 1o g u & Using g?r = 2c, Let’s find out unit for g;
2, _
M (Mass) kg gr=2c
¢ (speed of Light m/s gz = E
r (radius) m r
mm
sSs
kg m
m. m m? 1
S x S xm — X —
K s2 m
9 m
3 —
n §2
) . . . .
kgs? g is smz in the equation g?r = 2c, you see how the units
— are changing forms but still maintain the rule.
) m The Unit of the magnetic constant is H/m. One Henry (H)
G has a unit as; ) .. kgm?
3 in SI base units is ——-.
m 524 .
kgs? -
h . m3 i kgs2 . hi 1;"
If G has a unit as e then S will be gy (inverse), this kgm y l
is the unit g took using g = % Again, the four characters s?2A* " m
(S, G, s and g will share the same forms of unit) because o = kgm
space-time is gravity and gravity is space-time as explained. s2A?
Let’s go into the units using g = % to get the unit for g; The Unit of the electric constant is F/m. One Farad (F) in
T 412
SI base units is ~— 5
kgm
M (Mass) kg F
. m3 J—
G (Gravity) kgs? m
- s*tA? 1
r (radius) m _— X —
kgm? m
3 stA?
LU &g =7—=
kgs? X kg 0 kgm3
m? Confirming units using r = m;
m? 1 g
52 5 mz r = Moo
m 9
s2 _ Meopy
A unit as m/s’° means there’s also a unit for r

space-time/gravity as s”/m. Inserting units;
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Here, g takes the unit of G/S as explained, all four
parameters (S, s, G g) are the same.

G = gopor
s*A?  kgm
— X=X
kgm3 ~ sZA? m

2
Here, unit of G takes the form of s; as explained, G, S,

g and s are all the same and will share the same unit.
To know space-time involvement in all equations that

o . . 1

was proposed in this paper, we simply substitute G as 5 or
1 .

gas - as revealed in [2].

The explanation about G and g is the most important in
understanding gravity. g is a reduced form of G. When a
mass (planet) rests on the default space-time, it doesn’t
accelerate downwards, it floats, thereby creating a curvature
(projected circumference) from its shape. Because of this,
the nature of space-time inside the mass (planet) won’t be
the default, it will be a reduced version depending on the
mass and radius of the planet. That’s why masses won’t
float on Earth just like the planets on the outer space. The
formula for this explanation is the Newtonian subject
equation. However, if the nature of space-time at the outer
space is just like the one on Earth, planets won’t float but
drop. Dropping means planets won’t be able to create
curvatures, in this scenario, it won’t be G but g. You now
see the difference. Also, G and g sharing the same units
reveals that the constant G as an acceleration means;

G = 6.6666666667 x 10~ 11m/s?
G = 0.000000000066666666667m/s*

It’s basically 0 as 0m/s?. Thereby revealing that the
planets that will rest on this default spacetime S as (1.5 X
1010) won’t drop downwards, the curvature created as a
result of not dropping downwards is the consequence of
resting on the thickest space-time nature S.

So, when we say;

GMS‘LHI

(Toun )?

There are two ways, either by using G and g or S and s to
show space-time by substitution [2], both are the same but
the above equation is telling us that if a planet represented by

gsun =

God’s Eye: Physics of the Universe (2)

rﬂz rest on the default space-time, it will float leading to G

(curvature — 0m/s?). Because the mass interfered with
space-time’s business, the thickness of space-time will
reduce inside the planet, reduction based on the mass and
radius value. The reduced space-time represented by gg,,
will now be the reason why masses inside the planet will
drop downwards with a certain acceleration that is constant,
all these is the effect of gravity. Hence, the equation signifies
what happens when a curvature is present but doesn’t tell you
what happens within the curvature but it gives room for
findings as described earlier;

GMsun

gsun B (rsun )2

parameters for planet within curvature

(X or+)

And this was how the rotational and revolution time for
Earth was gotten by inserting the absorption constant and
radius for Earth as in;

Trot(earth) = gsunazr
(277.77777778) x (0. 00722) X (6 % 106) = 86400s

We can also say;

M
Trot(earth) = (r su)nz x a*r
sun

What I have just described is an understanding that was
lacking when Newton proposed his theory. It’s a confusion
with the whole units description and this was the reason why
there was no further advances on gravity theory before now.
Physicists didn’t really understand the meaning of the
constant G.

Other equations in this paper involves the fine structure
constant, and it is known in physics that the fine structure
constant has no units, I don’t really get the reason for this.
However, a gap will be present when getting units for
parameters relating to equations with the fine structure
constant, there could be a different unit for G and g relating
to the fine structure but the fine structure not having a unit is
a problem. Therefore, we don’t attempt to get the units, we
just assign the related unit to the values.

5. Scigion (Science and Religion)

The debate over whether science and religion can co-exist
is a “my people perish because of lack of knowledge”’
situation. Before reading this chapter, pretend like you don’t
know about the existence of any religion, including yours.
Perhaps in this generation, up to 70% of humans believe in a
religion because their parents practiced it. After reading this
chapter, don’t think it’s an act of persuasion from me onto
the right religion, I really don’t care about the religion of
anybody. In fact, I would want you to practice the wrong
ones to avoid contamination. Humans hate the truth, if you
tell them about the truth, they switch it, the lies become the
truth and the truth become the lies. So, I'm telling you, don’t
practice what is right.
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Figure 33. PI-Hints

Science is your religion, it’s as simple as this statement.
Everything in science has been unified into a summary as the
root of science. That root is what leads humans to the light, to
your creator. It involves your mind and spirit with the
knowledge of the truth. Religion is spiritual but humans
forget that any interaction of the mind and spirit internally or
externally is also physics. You don’t know because you can’t
be taught this. It is the physics of the dark (the physics of
what you can’t see). Humans only know about the physics of
what they can see.

This is an expo but let’s discuss.

1) People believe that science and religion are two ways
of looking/analysing the world. No, not two ways but
one.

2) Evolution and religious beliefs are not supposed to be
in contradiction. Yes, I agree.

3) Scientists are refusing the idea that a being created a
universe, they say it’s religious beliefs. Perhaps, no
more beliefs, the originator/creator of the universe is
represented by four numbers mathematically and we
can see its footsteps all around science using Ultimate
Relativity.

Figure 34. PI-Four Zodiac Symbol
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This is where I have to reveal a very important detail, I
revealed the four-zodiac symbol/ arrangement in my
previous papers, that’s physics but I never shared the
inspiration or origin behind the intersection dividing into
quadrants i.e. the cross that connects all four numbers. Now
heads up, Christians will be reading this paper and be
thinking this is Christianity and all. No, it is not. The
Christianity you believe in is only a contaminated version of
what you see here, you practice what you don’t understand.
The Bible was written by humans and you don’t know if it’s
true or not, and over the years the scriptures have been
modified to wash your brain more. Christianity is not what it
used to be, men keep changing the scriptures and preach the
wrong things. How about believing in the creator the way it
wants it to be. The Scriptures are just stories, Christianity
doesn’t practice up to 5% of what the creator requires. You
may not believe in stories but you believe in science because
seeing is believing.

5.1. The Ascendant

Figure 35. PI-The Ascendant

When a man dies, his relations and friends start
questioning the universe, asking what this world is all about.
Why humans die is a topic no one wants to preach about,
everyone wants to live life to the fullest and forget the main
goal. However, everything you know was created by
someone or something. If you’re the creator of the universe,
you created beings and kept them in a space in the universe,
for what reason? What the purpose is, you might not want to
tell them because you want to test them, just like creating a
tech and putting it to several test before launching officially.
At first, you speak to them directly and punish them when
they do something that contradicts your intention for them.
When their negative acts get too much, you plan for a fresh
start, wipe all of them and start afresh but it still repeats, the
new creations became even worst. You sense if the fault is
from how you created them or themselves, so you take the
form of what you created to see if you can actually survive in
the form of what you created in terms of the positive acts
from your plan. After a period, you figured out that it’s
possible, you do some preachings about how you want them
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to believe and function without telling them that you are the
creator. Finally, it’s time to kill your human form and you
had a decision that it’ll be the last time you ever contact your
creations physically or directly. So, at the point of death, you
leave a hint/clue to all they are supposed to believe in, so that
when they don’t see you for a very long time and can’t
contact you, they start asking questions and are left with just
one main clue “The Ascendant”’.

If you existed at the time of that event and you start asking
questions, you only see one thing that it strange, the sun and
the moon, you would think that is what your creator uses to
watch you. No, it is just a clue.

Now, pretend that you don’t know the zodiac arrangement,
pretend you don’t know Ultimate Relativity. If you existed at
the time of the event and out of curiosity, you wanted to find
out secrets to the universe and to the creator, you simply join
all the pieces together to solve the puzzles. Humans have five
fingers, there’s a reason for that. There are four zodiac
numbers forming the originator of the universe. How do you
know which one will be left out? It’s simple, the cross left
behind has 4 points, which means 4 itself will be left out of
the five numbers leaving you with 1,2,3 and 5 as the four
zodiac numbers, puzzle solved. The first, second, third and
fifth finger. If the cross has four points, which number do
you think will be left out? There’s no other way than to
exclude the fourth finger (4) itself. Humans who existed BC
or at the start of AD won’t know a cross or have an idea of
the shape of a cross without seeing the ascendant. You take
the cross and couple it with the shape of the sun or moon that
you see, attach the numbers and bang! you actually see what
your creator is trying to say. From there, you get all other
things in science.

Is 4 not important? It is important but it reveals a totally
different information.

There’s another secret called “Four sevens in a cross’’,
which I’ll like to reveal. Four sevens make up a cross.

Figure 36. PI-The Ascendant Formation

This is the reasons why if you read some key stories in the
scriptures, you’ll notice that most things about the creator are
done in sevens.

> Creates for six days, rests on the seventh, total of
seven days.

> Noah told to bring seven pairs of clean animals on
the ark
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Seven spirits of God

Seven angels who had seven plagues

Seven vessels for the light

Dragon with seven heads and seven diadems

Seven weeks of years, seven times seven years, so
that the time of the seven weeks of years shall give
you forty-nine years

vYvvyvyy

And so on, the number seven is seen up to 80 times in the
scriptures, you can confirm. Perhaps, that’s the power of the
ascendant, the cross.

You see how I interpreted the scriptures and related it in
science. Meanwhile some scientists think religion and
science are two different things. Did my separate revelation
in any way contradict? No, humans simply don’t know what
to believe in. It is deeper than you think. Look closely. All
these are part of the ’Four zodiac symbolic teachings.”’

6. The 100

WATCH THE ENTIRE SERIES

Figure 37. PI-The 100

Doesn’t matter if you are fighting a war with Gaza,
Lebanon, Ukraine, Taiwan, Armenia etc and you’re winning
because of the advantage you have, doesn’t really matter.
This chapter is for people who will read this paper a hundred
years and more from now. Both the victors and the victims of
war presently won’t be alive at the time an event will happen,
they need not to be preached to because it will be a waste of
time. So, I focus my energy on the future. Because trust me,
you can fight now but you’ll need each other soon enough.
At that time, the iron dome, the dragon fire laser, none of
these will save your people. So, pick your character from the
series. Would you like to be a leader like Clarke, or a warrior
like Octavia? Would you choose to be at the frontline of the
battle like Bellamy or help your team from behind like Raven?
The keyword to the reason why we exist is simply
summarized in a word as “’Teamwork’’. In every aspect of
life, just don’t do anything that’ll directly or indirectly affect
your teammates negatively, your teammates which are every
single human existing with you on Earth. Watching the series
““The 100, season 3 in particular is very much related to
when the real deal happens. Nothing last in this dimension,
everything fades, humans fade (die), stars fade, likewise the
planets. I keep saying that we live in a duplicate dimension,
everything you see with your eyes presently is an illusion of
what you’re are supposed to see. Perhaps the things you are
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meant to see, you don’t see them because of a certain test that
is to be passed to have access to that real/original world. I say
this not just from knowledge but also from calculations. I
repeat, from calculations, space-time doesn’t recognize
electromagnetism (energy and matter) directly, it only
recognizes dark energy and dark matter.

Table 18. PI-Universal constants

Space-time 1.5 x 101
Gravity 6.6666666667 x 10711
Speed of Light 3 x 108
Dark Energy 4.5 x 108
Energy 4.5 x 10
Dark Matter 50
Matter 0.5
Electric Constant 8.8888888889 x 10712
Magnetic Constant 12.5 x 1077

There are two ways to prove to you that this visible world
is an illusion/a fake world from the original that we are
meant to see.

First, you know what the gravitational constant is, the
space-time parameter is the inverse of it;

=5

1
G

1

6.6666666667 x 10-11

To get the light (photon) associated with space-time, we
multiply by the speed of light;

(1.5 x101%) x (3 x 10%) = 4.5 x 10'8MeV

The energy (electromagnetic radiation) as a photon that
we know and can see is;

1.5 x 101" MeV/c

k 9 x 10°
hc ~ (6.6666666667 x 10-16) x (3 x 10°)
=4.5x 101
We then use E = Mc? to get matter (electron) as;
4.5 x 1016 g
(3x108)2

0.5 is the mass of the electron in MeV/c?.
Another way to get this energy value, proving that it
represents electromagnetism;

me
Eolo

0.5

8.8888888889 x 1012 x 12.5 x 1077
=4.5x 10°MeV

The Question is, why is the light associated with
space-time not the value we got as energy (4.5 x 1016)?
Rather they are similar, they differ by just a difference of 100
with the spacetime light being higher (superior) than the
other.
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4.5x 1018
4.5 x 1016
What is this light associated with space-time? Scientist
have discovered traces of an unknown energy/matter that
they can’t detect but can observe its effect, they call it dark
energy and dark matter.
Let’s use E = Mc? to get the matter associated with the
spacetime light;

100

4.5x10'
(3 x108)2
The value ¢°50”° is the mass of the dark-electron
(dark-matter) in MeV/c*
Let’s be sure that the value (50) represents dark matter.
Scientists also discovered that this strange undetectable thing
has a gravitational effect, let’s check;

S =G
E;xM,

50

1.5 x 101°
4.5 %x 1018 x 50
Another way to display its gravitational effect;
S
My xc2 ¢

=6.6666666667 x 10711

1.5 x 1010
[50 X (3 x 108)]2

The final confirmation of what I said about the original
and duplicate (illusional) world is what you’re about to see;
The speed of light represents both energy and dark energy;

1

1
—_—_— = -9
- 3x10° 3.3333333333 x 10

In the duplicate world, an electromagnetic field is the
general term as;

= 6.6666666667 x 10~11

Ho€oC
(12.5 x 1077) x (8.8888888889 x 1071?)
x (3 x 10%)
Hogoc = 3.3333333333 x 107°

In the original world, a dark matter-gravitational field is
the general term as;

MdXG

50 X 6.6666666667 x 101
= 3.3333333333 x107°

Now, they are the same value/result in each of their
respective world (dimension), but it’s now left for
space-time to decide/reveal the chosen one i.e. separate the
bad twin from the good;

S
3.3333333333 x 10~°
1.5 x 101°
3.3333333333 x 10°°

=4.5x10®
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Inserting the field value reveals the true light. Again, the
world we live in is an illusion, a duplicate from the original,
and it is the reason why things fade in this dimension.
What separates both twin dimensions is the value 100. For
the last time, space-time doesn’t directly recognize
electromagnetism (energy) which implies that the duplicate
dimension (everything energy and matter) will completely
die (fade) at a point, things are gradually fading already.

Table 19. Twin Dimension similarity

TWIN DIMENSION
DARK ENERGY ENERGY
4.5x 1018 4.5 x 101

This whole explanation implies that this great universe
exists with two main (twin) dimensions, one as the original,
the other as the duplicate. See [2] and other papers. The
universe was intentionally created with a test for humans,
that test is linked to the reason why we can’t see the superior
dimension with our eyes. Perhaps, that is for the mind and
spirit (relating to dark physics) and a teaching for another
day. However, there’s only one true dimension, when
everything fades on this dimension, only the real one remains.
So, its tick tock, you have to make it in time to have access to
the real one before time elapses, don’t think no one is
watching what happens on Earth, you’re in a game, you’ve
just not realised yet.

Now, there’s another information I have for you;

There are two major types of sand (soil) on earth, just two.
Regardless of how many types of soil your teacher tells you,
they can be concluded under these two majors. The first is
the red earth sand.

Figure 38. PI-Red Earth

In some places. We can see the red earth sand right from
the surface to any depth at all. In all places, during
excavation, once you reach 4m the most, you must see the
red earth sand to any further depth at all. We see this red
earth sand 4m below in all places except one place, where
there is water.

The second is the white earth sand. This can only be
extracted from a place where there’s water e.g. rivers, oceans,
lakes etc. Here’s the secret; the white earth sand is supposed
to be the red earth but an effect from water caused the change
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in colour especially and other features. Is this secret not
enough?

3 £ ey

Figure 39. PI-White Earth

Figure 40. PI-Water in sky/frozen water vapour

What do we call water vapour in the sky? — Clouds
(Colour — White)

What do we call the frozen atmospheric water vapour? —
Snow (Colour — White)

Figure 41.

PI-Dark-Energy/ Dark-matter on Earth Display
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Water gives life to humans and animals, helps in growth of
plants, basically living things. The earth is made up of 60%
water the least, this means there was an extra entity during
the creation of earth that we don’t know. It wasn’t just an
energy cooling. If it was, there wouldn’t be oxygen, water,
plants. Animals, humans. Something that is most preciously
responsible for life through which these extra things were
created was involved in creation. The same thing that gave
water the power to do these things, to the extent of changing
the red earth sand to white earth sand.

To show that dark matter and its energy was involved
during creation, it’s straight;

=50
(6.6666666667 x 10-11) x (3 x 108)

c 1
If we equate - to —, we have;
r GXc

1
GXc

c
r
Therefore;
r = Gc?

This is how we can show dark matter presence using
T = Gc?, by reversing this derivation.

The calculations confirm the suspicion, dark matter was
involved in creation which will lead to the presence of
oxygen, water, plants, animals, humans in these planets.

Humans have two parts, one half belonging to one
dimension, the other half belonging to the other dimension,
making them exist in both dimensions at the same time
unless their part at the inferior dimension fades out (dies),
then they can now exist partially only in the superior
dimension. This answer is for those asking.

7. Void
FECCEEEE. SUBER - . DATR AND €O
PRIME MANN~BrnG SHALL

" &’

Figure 42. PI-Void/B.E
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Science isn’t a fairytale but some scientists normalize
telling fairy tales just to make things up, maybe because of
lack of knowledge or idleness. Someone wakes up one
morning and decides that gravity would have a subject
particle and till eternity, it won’t be discovered. Someone
gets a Ph.D. and the next day he thinks that strings from
guitar is the key to unification in physics. A lot more
confusion in physics and mathematics that I don’t understand.
This is also the same way most of the physicists and
mathematicians decided and agreed that Pi has never ending
digits, where are the digits going to? Your backyard? Before
our very own eyes, a group of mathematicians/scientists
dismissed the reason behind the 16™ Greek Letter being
picked to represent the circle ratio and deceived everyone
with a wrong Pi value and the whole world believed. The
same thing they tried to do with string theory. Yes, you can
think and create whatever you imagine in your mind, and
what you imagine can be the reality but that’s technology and
engineering. Science is not created by man and you can’t
decide what happens, so if you don’t have an idea, it’s best to
shut it. This Chapter is for the coming generations, avoid any
fairytale that isn’t in accordance to the blueprint of the
universe. There are a lot of wrong theories your teachers
might be teaching you, if it doesn’t work mathematically, it’s
wrong. Also, avoid YouTube Physicists who enjoy telling
fantasy stories. You know the wrong theories, don’t waste
your time on them, unless you want to end up on the wrong
side.

8. 2025

Figure 43. PI-2025

The value 2025 is a Pi code, the Pi code before this value
is 2000. We are currently in the year 2024 and next year is
2025. In the spirit of curiosity, I thought to breakdown the Pi
code 2025 to its pieces. Here we go;
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2025
405
81
27

W W W |W|u |

2025
675
225

75
25

N (W W | W |w

2025
675
135

45
15

N[ W W || W

[1,3,5,9,15,25,27, 45, 75, 81, 135, 225, 405, 675, 2025]
these are the products. Let’s see what happens in 2025, but |
promise you that I’ll bring the experimental effect of this
whole theory of everything journey to humanity from 2025.

9. Summary

Figure 44. PI-The Family

Converting data (information) into a code to prevent
unathorized access is called encryption. Hence, information
about our universe is an encrypted data in Pi codes. All these
time wasted periods, it was straight and simple with the
keyword as ¢’PI codes’’. Without Pi codes, there’s no way
you know the real deal.

Big crumbs of energy solidified into big stars, small
crumbs solidified into small stars. The big stars dominate the
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small by creating a curvature around them causing them to
revolve around constantly. After all these, due to the
curvature not affecting the dominator, the dominator will
therefore not solidify into a planet, while the stars on the
orbit will transform to planets due to revolution, all these
happened in the presence of dark matter and dark energy
resulting to unique mixtures. Gravity is a consequence from
space-time resulting to curvature. This curvature as the
gravitational effect brings all members of the family together.
At the point of creation, both stars and planets were alike (it
was all stars). Now, both are different. From calculation, the
solidification of the planets was as a result of the constant
planet rotation/revolution on its orbit around the star due to
curvature. The star not being affected by any curvature
whatsoever but rather the cause of the curvature, remained
more or less the same up till this present time. So basically,
gravity is the reason behind planet formation/solidification.

This is more like a one stone kill two or more birds type of
situation. Humans/animals and plants need the light from the
sun, rotation of the earth gives us day and night, revolution
gives us the seasons but the main purpose of rotation and
revolution was for planet solidification (cooling). Without
the rotation and revolution through curvature (gravity), the
planets will still look like the sun up till date. The planet
solidification is how we could confirm the exact time it takes
Earth to complete one rotation on its axis and one revolution
around the sun. Also, they are all a family, the parameters for
a star are connected to its planets i.e. gravity as the bond
allows us to calculate certain relationships between a star and
the planets in its solar system and this is how we could get
accurate values for the Earth and Sun with other planets
which the reader can calculate later by using rounded up
parameters to the nearest PI code.

Speaking of the Earth and the Sun, they are our
macroscopic electron and photon. It turned to be that there
are two ways for unification in physics, the macroscale and
the quantum with the same physical constants directly
leading us to values for an electron and a pack photon [2],
just as it lead us to values for the Sun and the Earth.

When doing an experiment, you can try and fail a million
times but get it right once. Have you been wondering why
there are billions of planets/stars but only one special
planet/star. It was a Blast but it was also a programmed blast.
In creation, the parties involved were looking for just two
stars, one that will dominate according to the physical
constants and one that will solidify into a planet that will
correspond to the values of the physical constants, as the
physical constants can be mathematically described as the
foundation of the universe i.e. the physical constants of the
universe creates the universe mathematically. Therefore,
they simply looked for the solar system that will have a
planet and a star that would correspond with the values for
physical constants, they found the Sun and the Earth and
made it special.

Furthermore, who would have thought that the macroscale
and the quantum are similar? [ used constants that are used in
quantum mechanics for the macroscale and I showed how
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they relate. The only difference is that the macroscale is
made up of the quantum and the quantum is not made up of
the macroscale. Therefore, if we are to do a thing on both
scales, they are the same, only that for a macroscale, it would
start from the quantum behind the scenes.

All these revelation and secrets would not be possoble
without “’Ultimate Relativity”’, it gave us the exact value for
physical constants, the exact Pi value, the Pi codes, the Pi
geometry, gave birth to Ultimate Gravity through which
God’s Eye was used for interpretation.

The science and religion debate has also been solved, the
choice is yours. The problem of the Universe value ’100”’
was repeated again as a reminder for all to know.

Generally, it started from the space-time parameter to the
God Equation to Ultimate Relativity to Ultimate Gravity,
they all gave birth to sections during this wonderful journey.

You were swallowed up in the God's Eye,
and you were never seen again.

Figure 45. PI-HOD/P.S

I don’t think I need to convince anyone about the truth,
when you see one you should know. This journey started
right from 2019, this is 2024, next year is 2025, that’s my
seventh year and I think I know what the seventh signifies. |
was on a journey and by calculation, I would have finished
the major story on/before 2025, glad it all worked out well.
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All theories in this paper are novel coupled with all the
equations in a box, all proposed by Prince Chimobi
Igboejesi.

REFERENCES

[1] Prince Jessii, The 16" Greek Letter, International Journal of
Theoretical and Mathematical Physics, Vol.14 No. 1, 2024,
pp. 11-15. Doi 10.5923/].ijtmp.20241401.03.

[2] Prince Jessii, The God Equation: Theory of Everything,
International Journal of Theoretical and Mathematical Physics,
Vol.14 No. 1, 2024, pp. 11-15. Doi 10.5923/j.ijtmp.2024
1401.03.

[3] Prince Jessii, Ultimate Relativity: m Theory, International
Journal of Theoretical and Mathematical Physics, Vol.12 No.
2,2022, pp. 32-62. Doi 10.5923/j.ijtmp.20221202.02.

[4] Prince Jessii, (Ultimate Relativity) vs (General Relativity),
International Journal of Theoretical and Mathematical
Physics, Vol.12 No. 2, 2022, pp. 32-62.

Doi 10.5923/j.ijtmp.20221202.02.

[5] Prince Jessii, Ultimate Physics Equation: The Last Revolution in
Physics (Deluxe), International Journal of Theoretical and
Mathematical Physics, Vol. 11 No. 3,2021, pp. 106-133. Doi:
10.5923/j.1jtmp.20211103.03.

[6] nssdc.gsfc.nasa.gov (NASA FACT SHEETS).

[7] Prince Jessii, Ultimate Relativity (Four Zodiac): The secret
origin and distribution of Prime numbers (physics of numbers),
International Journal of Theoretical and Mathematical
Physics, Vol. 13 No. 4, 2021, pp. 92-125. Do0i:10.5923
/j.1jtmp.20231304.02.

This work is licensed under the Creative Commons Attribution International License (CC BY). http://creativecommons.org/licenses/by/4.0/



	1. Introduction
	2. Ultimate Relativity
	3. God’s Eye Technique
	4. Ultimate Gravity
	5. Scigion (Science and Religion)
	6. The 100
	7. Void
	8. 2025
	9. Summary

